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"28. Match the parametric equations with the graphs labeled I-VL
Z CE;) Give reasons for your choices, (Do not use a graphing device.) —

?Cf'iadlcr__ : _\. - : r;n_ R : d;...c ——

v R

| f-**"‘_"ﬂ" @! " i _
7N Adees néf'_Fos f50)

N pesredie 8, - - - rngda.c_o' )

Aot Yossespr Jors astparsca)

Kedy gotose ael-ae  pasesthmqn (1,0)
kal_l‘w - - | _(qlﬁ' '(‘.":-.11’)

1

e
T /YA R

(f) x =cost, v = sin{t + sin 5r)

(d) x=1t+sin2y, y=1+sindt
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(@ x=1—-21, y=1 —1¢ B —

(e) x =sin(r + sin?), y= cos(t + cos )
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So  =2x 24422 = <-2,-2,2% - <2,c2>
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K‘Ti/-a“% D:f

e, ., |




&

3.0 10)  Skettn ao cune LIP3t A> S

_\.r.\.ﬁ"(_t_ ol mLf N, 6 20 DA C\wossAy "PVU:! é_«.c ~rC R:Wl A weMie by

£ (poveeses,

Thie € & ldw <) o0>rt<,3-1>
So 4 we dvoyo tro ond €= ad comect Hhaag

e e Suws pt*@m+ . o
=0 [ dio o>

i I <2)3,"‘> § ) ) - o
-2#\ o




